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23423

M. Tech 2nd Sem. (Civil Engg.)
(Specialisation in Structural Design)
Examination — May, 2018

DESIGN OF STRUCTURES - li
Paper : MTSD-203 .

Time : Three Hours ] [ Maximum Marks : 100

Before answering the questions, candidates should ensure that they
have been supplied the correct and complete question paper. No
complaint in this regard, will be entertained after examination.

Note: All question carry equal marks. Attempt any five
questions.

1. (1) How do you calculate the lever arm for a deep
beam ? 5x4=20

(2) Contrast between ordinary-moment shear walls
and ductile-moment shear walls.

(4) What are the factors influences the bond response
of bars at the beam column joint ?

(5) Briefly explain about corbel with a neat sketch.
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